Multiplication law for indices
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Multiplication law for indices

1. Simplify the expressions.
a)axa b) b>x b?

c)c” x c3 d)d®xd x d?

2. True or false?

h2x h4=h?2
k3x k2=k
y°ox y>=y°

Correct any false statements

3. Simplify the following.
a) a%7x a23

b) b23x bO7

c) cO036x 136

4. Simplify the expressions.

a) 2xa’

b) 3b x 2b?

c) 6¢2x10c8

d) 20d8' x -5d'

e) 5e“* x 3e3x -4el
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Multiplication law for indices

5. Work out the value of m and p in 7. Arectangle has a length of 3h°> cm
each. and 4h*cm. Write an expression for
a) 3amx pa®=6a8 the area of the rectangle
b) mb=x 2bP =12b3
3h>cm
c) -5¢c™ x pc3=30c°
6. Expand the brackets. 4% o
a) k(5-k)
b) w3 (w +2)
c) 3f(f2+ 4)
d) 29%6-39°
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Answers
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Multiplication law for indices

1. Simplify the expressions.
a)axaa’ b) b5x b2 b’

c) ¢'7 x c3 c° d) d?x d x d3 d”

2. True or false?

h2x h%4=h2 False.h®
k3x k?2=k True
y>x y>=y° True

Correct any false statements

3. Simplify the following.
a) a7 x a23 a’

b) b23x bo7 b3
) CO36x 136 cl=c

4. Simplify the expressions.

a) 2xal 2a’
b) 3b x 2b2 6b*
c) 6¢2x10c8 60c™

d) 20d8® x -5d"° -100d'*°
e) 5e%x 3e3x -4el -60e”
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Multiplication law for indices

5. Work out the value of m and p in 7. Arectangle has a length of 3h°> cm
each. and 4h*cm. Write an expression for
a) 3amx pa® = 6a8 m=2 p=2 the area of the rectangle
b) mb®x2bP=12b> M=6 p=38
3h>cm
c) -5cMx pc3=30c® m=-7 p=-06
6. Expand the brackets. 3h° x 4h%=12h° 4R em
a) k(5-k) 5k — k2 Area = 12h?cm?
b) w3(w + 2) W4 + 2w

c) 3f(f2+4)  3fh+ 122
d) 29%6-39°% 1292-69°
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